Math 153 - Quiz 7 Neme _ key
April 2, 2015 Score

Show all work to receive full credit. Supply explanations when necessary.

£y 1. (5 points) In the United States, Asian Americans contract tuberculosis (TB) at an
(,(25'9\{ w average rate of 18.7 cases per 100,000 persons per year.
on

(a) In any given year, what is the probability that the contraction rate is 20 or more
per 100,000 persons?

B, |
w\\::o;‘ 18.7 P(x=90) = \- P(x<20)
= \-P(xe) = |

(b) What would be an unusually large contraction rate?

//{1‘- a\f;z = /8 7+ Q\Jgj?

2. (5 points) A company that monitors Internet messages has found that 91% of all email
messages are spam. Suppose you select a random sample of 25 of your email messages.

(a) What is the probability that exactly 22 are spam?

B\ oMiAL
N:)%) P(x=93) = binompd (285, 0:%1,393)
qz O.OC‘ -

‘ (b) What is the probability that at least 22 are spam?

P(x29g)= |- P(x<98) = \- P(x«a\)

= | - binomea® (85,0.91,8\)
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(c) What is an unusually small number of spam messages?
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